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QUESTION 1

Which performance benchmark tool CANNOT be used to measure 10 throughput for Linux based filesystems?
A.IOR

B. 10500

C. Vdbench

D. FIO

E. iPerf

Correct Answer: A

QUESTION 2

Which two Oracle Cloud Infrastructure (OCI) storage options are supported for direct HDFS use in Hadoop?
A. Block Volume

B. Object Storage

C.FSS

D. DenselO NVMe

Correct Answer: CD

QUESTION 3

A customer ran a Job on 2 BM.HPC2.36, and the job took 4 hours using 32 cores of each node. They later ran on 4
nodes and the Job took 3 hours. What Is the efficiency gained?

A. 100%
B. 50%
C. 66%
D. 75%

Correct Answer: B

QUESTION 4

Which three Hadoop distributions are supported on Oracle Cloud Infrastructure (OCI)?
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A. Pivotal EMC

B. Apache Hadoop
C. Hortonworks

D. MapR

E. Cloudera

Correct Answer: BCE

QUESTION 5

Which statement explains how instances are distributed in an instance pool?

A. The instances In a pool are distributed between availability domains only.

B. The instances in a pool are distributed evenly between two fault domains.

C. The instances in a pool are not distributed across fault domains.

D. The instances in a pool are distributed across all fault domains In a best-effort manner based on capacity.
E. It is not possible to distribute instances across availability domains or fault domains.

Correct Answer: D
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